Unit:  WWII

Handout #______


Appeasement: What would you have done?

In September 1938, Hitler met with British Prime Minister Neville Chamberlain and French Prime Minister Edouard Daladier.  Hitler was demanding that he be given the western part of Czechoslovakia known as the Sudetenland.  Czechoslovakia was very against this.  The Sudetenland was an area of mountains that protected them from Germany.  If the Germans controlled that area they could easily take over the rest of Czechoslovakia.  The stakes were high, if Hitler did not get what he wanted he was threatening war. If he got what he wanted he promised to stop expanding. Chamberlain and Daladier had a very tough decision.  They could:

1. Give Hitler the Sudetenland, betraying Czechoslovakia.  This would avoid an immediate war, but would allow Hitler to get away with yet another aggressive action.  (Don’t forget Hitler’s already rebuilt his army, moved troops into the Rhineland and taken Austria.)

2. Tell Hitler NO and prepare for a war that you and your people are not willing to fight.  Don’t forget, its only been 20 years since WWI.

3. Other Options?





















































Pretend that you are either Chamberlain or Daladier.  In the space below describe your decision and tell me WHY you came to that decision.  You cannot use Hitler’s future actions (such as invading Poland, starting WWII, and the Holocaust) as a reason for your decision.  These events had not yet happened and thus could not have been part of Chamberlain/Daladier’s decision.  

Stop Don’t turn this page over!

Well if you want to know, Chamberlain and Daladier chose the first option.  They signed the Munich Pact on September 29, 1938.  Their decision was based on a policy known as appeasement 
Definition – 

Giving in to the demands of an attacker in order to keep the peace

1.  Define Appeasement in your own words

2. What did the Munich Pact give to Hitler?  

3. How was their decision and example of appeasement

Great Britain and France practiced appeasement with Germany for a number of reasons

· Great Britain thought that some of Germany’s actions were reasonable because the Treaty of Versailles was too harsh

· Without Great Britain, France was alone so it didn’t want to start any problems

· Both of the countries saw Germany as a defense against communism from the Soviet Union

· Many people in these countries were against going to war again.  They had become pacifists (people who don’t like war).  WWI was really hard for many people and they did not want to fight in another war.

3.  Why did Great Britain practice appeasement?

4. Why did France?

5.  Define Pacifism

